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How many times do you skip down the number line to find the quotient?

Division:

Skip-Count to the Quotient

The divisor tells you how many numbers to count down the number line.

HHHHHHHH 10+:5=2

> 10

Example:

The divisor is 5, so you skip count by 5's down the number line. Since you
hopped down the number line 2 times, the quotient is 2.

1. 2.

|1234|6789|11121314| |1234|6789|11121314|

0 5 10 15 0 5 10 15
12+-3= 4 15+-5= 3
Match each number line with the correct division sentence.
3. 4,

1 2 3 4 6 7 8 9 11 12 13 14 |1I2I3I4I|6I7I8I9I|1I11I21I3.II4|

0 5 10 15 0 5 10 15
N NG o~
1 2 3 4 6 7 8 9 11 12 13 14 1 2 3 4 6 7 8 9 11 12 13 14

0 5 10 15 0 5 10 15
a. 12+4=3#5b. 6+-3=2#3 ¢. 10+2=5#4 d. 12+-2=06%6

7. Now you try! Show how you skip count on the number line below.

« First, draw how you hop down ﬁ m I m | ﬁ I
the number line. 0 2 3 4 6 7 8 9 112 13 14 16 17 18 19

| . 5 10 15 20
« Then, write the quotient on the 18 = 6 3
answer line. N
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